	LILA POONAWALLA FOUNDATION									
	ENGINEERING & ENGINEERING AFTER DIPLOMA SCHOLARSHIP SELECTED GIRLS FROM 2020 TO 2023									
S.No	Batch	Name	Course	Academic year	College Name	Sanctioned Amount per year	Claimed Amount			
1	2020	Keerthana Nagaraju Kyatam	3 years Engineering	Pass out	BVRIT Hyderabad college of Engineering for women, Bachupally	60000	180000			
2	2020	Bajoju Yuktha Akhila	3 years Engineering	Pass out	Bachupally BVRIT Hyderabad college of Engineering for women,	60000	179000			
3	2020	Aruna Palthyavath	3 years Engineering	Pass out	Bachupally BVRIT Hyderabad college of Engineering for women,	50000	150000			
4	2020	Sonti Sindhuja	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women,	60000	240000			
5	2020	Amulya Sai Rao Boinapalli	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	40000	140000			
6	2020	Indu Pagadala	4 years Engineering	Final year	BVRIT Hyderabad college of Engineering for women,	60000	240000			
7	2020	Thanmai Kondru	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	50000	199941			
8	2020	Deepika Kurry	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	60000	240000			
9	2020	Sri Aishwarya Gopisetti	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women,	60000	240000			
10	2020	Kethavath Renuka	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women,	50000	173580			
11	2020	Jyothirmai Inti	4 years Engineering	Final year	Bachunally BVRIT Hyderabad college of Engineering for women,	50000	200000			
12	2020	Thopuri Harshitha	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	20000	59000			
13	2020	Sruthi Sagar Ginne	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	60000	240000			
14	2020	Sneha Bandarajulu	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	50000	200000			
15	2020	Munavath Sunitha	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	50000	200000			
16	2020	Alane Shivani	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	60000	240000			
17	2020	Mulastham Mani Pranathi	4 years Engineering	Final year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	60000	240000			

					BVRIT Hyderabad college of		
18	2020	Pachipala Harsha Sri	4 years Engineering	Final year	Engineering for women,		
			0 0		Bachupally BVRIT Hyderabad college of	60000	240000
19	2020	Budige Akshaya	4 years	Final year	Engineering for women,		
			Engineering		Bachupally BVRIT Hyderabad college of	60000	240000
20	2020	Divya Chakali	4 years	Final year	Engineering for women,		
	2020	2, a chanan	Engineering	-	Bachupally BVRIT Hyderabad college of	60000	240000
21	2020	Nobarika Tannatla	4 years	Finalyzar			
21	2020	Neharika Tappetla	Engineering	Final year	Engineering for women, Bachupally	60000	240000
			4 years		Bachupally BVRIT Hyderabad college of		
22	2020	Lahari Bhoga	Engineering	Final year	Engineering for women,	60000	240000
			4 years		Bachupally BVRIT Hyderabad college of	00000	240000
23	2020	Madeeha Qamar	Engineering	Final year	Engineering for women,	20000	00000
					Bachupally BVRIT Hyderabad college of	20000	80000
24	2020	Madupathi Shreya	4 years	Final year	Engineering for women,		
			Engineering		Bachunally BVRIT Hyderabad college of	50000	200000
25	2020	Bacchu Geetha Vani	4 years	Final year	Engineering for women,		
	2020		Engineering		BVRIT Hyderabad college of	60000	240000
20	2020		4 years	<b>Final</b> year			
26	2020	Blessy Blessy Boorla	Engineering	Final year	Engineering for women,	60000	240000
			4 years		Bachupally BVRIT Hyderabad college of		
27	2020	Uma Harika Devi Musunuri	Engineering	Final year	Engineering for women,	60000	240000
		A substitution Consultance Description			Bachupally BVRIT Hyderabad college of	00000	240000
28	2021	Aashritha Sandhya Rani Ganji	3 years Engineering	Final year	Engineering for women,		
		Ganji	Lingineering		Bachupally BVRIT Hyderabad college of	50000	150000
29	2021	Ashwini Annapureddy	3 years	Final year	Engineering for women,		
		Mankena	Engineering	-	Bachunally BVRIT Hyderabad college of	45000	135000
30	2021	Bushra Chand Mahaveen	3 years	Final year	Engineering for women,		
50	2021	Bushi'u chunu wunuveen	Engineering	Thial year	BVRIT Hyderabad college of	30000	90000
24	2024	Geethika Siva Prasad	3 years				
31	2021	Chilakamarti	Engineering	Final year	Engineering for women,	30000	52295
			3 years		Bachupally BVRIT Hyderabad college of		
32	2021	Hema Srinivasa Thonangi	Engineering	Final year	Engineering for women,	50000	150000
			0 0		Bachupally BVRIT Hyderabad college of	50000	150000
33	2021	Neelam Sriramulu	3 years	Final year	Engineering for women,		
		Rajeswari	Engineering		Bachupally BVRIT Hyderabad college of	50000	150000
34	2021	Nithya Pitchaiah Kaandru	3 years	Final year	Engineering for women,		
	2021		Engineering		BVRIT Hyderabad college of	25000	75000
25	2024	Pavani Vishnu Vardan	3 years Engineering	Eine d			
35	2021	Alluri		Final year	Engineering for women,	50000	150000
			3 years		Bachupally BVRIT Hyderabad college of		
36	2021	Sandhya Srinivas Chityala	Engineering	Final year	Engineering for women,	E0000	150000
			00		Bachupally	50000	150000

					BVRIT Hyderabad college of		
37	2021	Sandhya Ramachandram Lamba	3 years Engineering	Final year	Engineering for women,		
		Lainba	Lingineering		Bachupally BVRIT Hyderabad college of	40000	120000
38	2021	Shilpa Shekhar Mukthala	3 years	Final year	Engineering for women,		
			Engineering		Bachupally BVRIT Hyderabad college of	50000	150000
39	2021	Sindhu Priya Bhaskar	3 years	Final year	Engineering for women,		
35	2021	Rayini	Engineering	Tinar year	<b>v v</b>	50000	150000
		Sindhuja Sathyanarayana	3 years		Bachupally BVRIT Hyderabad college of		
40	2021	Ramidi	Engineering	Final year	Engineering for women,	50000	150000
			3 years		Bachupally BVRIT Hyderabad college of		
41	2021	Sreeja Venkateswarlu Golla	Engineering	Final year	Engineering for women,	30000	90000
			2		Bachupally BVRIT Hyderabad college of	50000	50000
42	2021	Sushma Rambabu Vallepu	3 years Engineering	Final year	Engineering for women,	45000	
			0 0		Bachupally BVRIT Hyderabad college of	45000	135000
43	2021	Tejaswi Srishailam	3 years	Final year	Engineering for women,		
		Enikepally	Engineering	· ·	Bachunally BVRIT Hyderabad college of	60000	180000
44	2021	Vennela Venkanna	3 years	Final year	Engineering for women,		
		Akkenapally	Engineering	-	BVRIT Hyderabad college of	40000	120000
45	2021	Vineetha Parsha Dumpala	3 years	Final year	EVRIT Hyderabad college of Engineering for women,		
43	2021	villeetila Parsila Dullipala	Engineering	Fillal year		50000	150000
		Vyshnavi Veeresha Lingam	3 years		Bachupally BVRIT Hyderabad college of		
46	2021	, Kandukuri	Engineering	Final year	Engineering for women,	50000	150000
		Manaswini Dattadri	4 years		Bachupally BVRIT Hyderabad college of		
47	2021	Sangam	Engineering	Third year	Engineering for women,	50000	150000
					Bachupally BVRIT Hyderabad college of	30000	130000
48	2021	Trishma Sreenu Gopisetti	4 years Engineering	Third year	Engineering for women,		
			0 0		Bachupally BVRIT Hyderabad college of	60000	180000
49	2022	Ayesha Banu Ismail Mulla	4 years	Third year	Engineering for women,		
			Engineering		Bachupally BVRIT Hyderabad college of	50000	100000
50	2022	Chakrika Sai Dharmapuram	4 years	Third year	Engineering for women,		
			Engineering		Bachupally BVRIT Hyderabad college of	60000	120000
<b>F1</b>	2022	Caravu Crinivas Anumalla	4 years	Thirdycor	-		
51	2022	22 Sarayu Srinivas Anumalla	Engineering	Third year	Engineering for women, Bachupally	60000	120000
			4 years		Bachupally BVRIT Hyderabad college of		
52	2022	Vasudha Ramesh Govindhu	Engineering	Third year	Engineering for women,	60000	120000
		Aichurger in Crista i la m	3 years		Bachupally BVRIT Hyderabad college of		120000
53	2022	Aishwarya Srishailam Vallala	Engineering	Second Year	Engineering for women,	40000	80000
				В	Bachupally BVRIT Hyderabad college of	40000	80000
54	2022	Akhila Gopal Chunchu	3 years	Second Year	Engineering for women,		
			Engineering		Bachupally BVRIT Hyderabad college of	40000	80000
55	2022	Anitha Srinu Shivarathri	3 years	Second Year	Engineering for women,		
			Engineering		Bachupally	40000	80000

					BVRIT Hyderabad college of		
56	2022	Anmisha Nethra Sriramoju	3 years Engineering	Second Year	Engineering for women,	40000	80000
			0 0		Bachupally BVRIT Hyderabad college of	40000	80000
57	2022	Deekshitha Sagar Cheerla	3 years Engineering	Second Year	Engineering for women,		
			Lingineering		Bachupally BVRIT Hyderabad college of	40000	80000
58	2022	Deekshitha Sanjeev	3 years	Second Year			
		Rachakatla	Engineering		Bachupally BVRIT Hyderabad college of	50000	100000
59	2022	Deepika Laxman Diviti	3 years	Second Year	Engineering for women,		
			Engineering		Bachupally BVRIT Hyderabad college of	40000	80000
60	2022	Harsha Vardhini Srinivas	3 years	Second Year	Engineering for women,		
00	2022	Kukudala	Engineering		Bachupally BVRIT Hyderabad college of	40000	80000
61	2022	Hasini Srinivas Padigela	3 years	Second Year	BVRIT Hyderabad college of Engineering for women,		
01	2022	Flashin Shiniyas Faulgela	Engineering	Second real		40000	80000
62	2022	Madhu Priya Srinivas	3 years		Bachupally BVRIT Hyderabad college of		
62	2022	Thammanaveni	Engineering	Second Year	Engineering for women,	40000	80000
			3 years		Bachupally BVRIT Hyderabad college of		
63	2022	.022 Mounika Mallesh Thotla	Engineering	Second Year	Engineering for women,	40000	80000
			3 years		Bachupally BVRIT Hyderabad college of	40000	00000
64	2022	2 Neha Venkatramana Kota	Engineering	Second Year	Engineering for women,	40000	80000
					Bachupally BVRIT Hyderabad college of	40000	80000
65	2022	Priti Narsimha Ambati	3 years Engineering	Second Year	0 0 ,		
					Bachupally BVRIT Hyderabad college of	40000	80000
66	2022	Rushika Maheshwar	3 years	Second Year			
		Vangara	Engineering		Bachunally BVRIT Hyderabad college of	40000	80000
67	2022	Sai Varsha Peddanna	3 years	Second Year			
		Perala	Engineering		BVRIT Hyderabad college of	50000	100000
68	68 2022	022 Sai Vinaya Rajender Panasa	3 years	Second Year	Engineering for women,		
00	2022	Sur vinaya Kajender Fanasa	Engineering		Bachupally BVRIT Hyderabad college of	40000	80000
60	2022	Cathurika Daiandra Jakkani	3 years				
69	2022	Sathwika Rajendra Jakkani	Engineering	Second Year	Engineering for women, Bachupally	50000	100000
			3 years		Bachupally BVRIT Hyderabad college of		
70	2022	2 Sirisha Sudarshan Aavula	Engineering	Second Year	Engineering for women,	40000	80000
			2 voars		Bachupally BVRIT Hyderabad college of	10000	
71	2022	Sony Satyanarayana Gouni	3 years Engineering	Second Year	Engineering for women,	20000	60000
		2 Sri Devi Anjaneyulu Goolla			Bachupally BVRIT Hyderabad college of	30000	60000
72	2022		3 years Engineering	Second Year	Engineering for women,		0.000-
					Bachupally BVRIT Hyderabad college of	40000	80000
73	2022	Sushma Ravi Kamepally	3 years	Second Year	Engineering for women,		
ļ		· /	Engineering		Bachupally BVRIT Hyderabad college of	50000	100000
74	2022	Swathi Pavani Kasturi	3 years	Second Year	Engineering for women,		
/ 4			Engineering		Bachupally	40000	80000

					BVRIT Hyderabad college of		
75	2022	Swetha Ambadas Paaka	3 years	Second Year	, ,		
			Engineering		Bachupally BVRIT Hyderabad college of	40000	80000
76	2022	Tejaswi Suresh Bojja	3 years	Second Year	Engineering for women,		
70	2022	rejaswi suresh Bojja	Engineering	Second real		50000	100000
			3 years		Bachupally BVRIT Hyderabad college of		
77	2022	Vaishnavi Swamy Konda	Engineering	Second Year	0 0 ,	40000	80000
		Chinde Chinde Tirupathi	3 years		Bachupally BVRIT Hyderabad college of	10000	
78	2023	Aishwarya	Engineering	Second Year	Engineering for women,	50000	50000
					Bachupally BVRIT Hyderabad college of	50000	50000
79	2023	Sahithya Adavelly Srinivas Adavelly	3 years Engineering	Second Year	Engineering for women,		
		Adaveny	Engineering		Bachupally BVRIT Hyderabad college of	60000	60000
80	2023	Shraddha Deshpande	3 years	Second Year	Engineering for women,		
00	2020	Shankar Rao Deshpande	Engineering		Bachupally BVRIT Hyderabad college of	50000	50000
04	2022	Abhinaya Maccha Chandra	3 years	C I.Y	. –		
81	2023	Shekar Maccha	Engineering	Second Year	Engineering for women,	60000	60000
		Kokkonda K.Venkatram	3 years		Bachupally BVRIT Hyderabad college of		
82	2023	Reddy Rekha	Engineering	Second Year	Engineering for women,	60000	60000
		-			Bachupally BVRIT Hyderabad college of	60000	60000
83	2023	Kamuni Kamuni Bal Kishan	3 years	Second Year	Engineering for women,		
		Vaishnavi	Engineering		Bachunally BVRIT Hyderabad college of	50000	50000
84	2023	Niharika Kathi Srinivas	3 years	Second Year			
-		Kathi	Engineering		BVRIT Hyderabad college of	50000	50000
85	2023	Sarayu Chirram Mallaiah Chirram	3 years Engineering	Second Year	. –		
65					<b>v v</b>	25000	25000
		Kondu Rajeshwer Rao	3 years		Bachupally BVRIT Hyderabad college of		
86	2023	Srimukha	Engineering	Second Year	<b>U U U</b>	50000	50000
			4		Bachupally BVRIT Hyderabad college of	50000	50000
87	2023	Naveena Ramesh Gurram	4 years Engineering	1st year	Engineering for women,		
			Lingineering	Second Year Engine BVRIT Hy Second Year Engine BVRIT Hy 1st year Engine BVRIT Hy 1st year Engine	Bachupally BVRIT Hyderabad college of	60000	60000
88	2023	Pavani Parveda	4 years	1st year	Engineering for women,		
		Shankaraiah Parveda	Engineering		Bachupally BVRIT Hyderabad college of	40000	40000
89	2023	Thota Thota Raju Harshitha	4 years	1st voar	Engineering for women,		
85	2025	Thold Thold Raju Harshillia	Engineering	ist year	<b>U U</b>	60000	60000
		Ambati Ambati Yadagiri	4 years		Bachupally BVRIT Hyderabad college of		
90	2023	Indhu	Engineering	1st year	Engineering for women,	50000	50000
		Busani Busani Srinivas	Avears		Bachupally BVRIT Hyderabad college of		
91	2023	Keerthana	4 years Engineering	1st year	Engineering for women,	C0000	60000
					Bachupally BVRIT Hyderabad college of	60000	60000
92	2023	Sai Deepanvitha S.Venkata	4 years	1st year	Engineering for women,		
		Ramana Siddamsetty	Engineering		Bachupally BVRIT Hyderabad college of	60000	60000
93	2023	Harshini Nageswara Rao	4 years	1st year	Engineering for women,		
	2023	Siddi	Siddi Engineering	IST AGI	Bachupally	60000	60000

94	2023	Rishitha Reddy Ravinder Reddy Shaganti	4 years Engineering	1st year	BVRIT Hyderabad college of Engineering for women, Bachupally	60000	60000
95	2023	Sravanthi Santhosh Reddy Papayagari	4 years Engineering	1st year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	50000	50000
96	2023	Sowmya Srinivas Bonthula	4 years Engineering	1st year	BVRIT Hyderabad college of Engineering for women,	55000	55000
97	2023	Pekala Suryanarayana Dilliswari	4 years Engineering	1st year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	60000	60000
98	2023	Prerana Mahesh Pandit Joshi	4 years Engineering	1st year	BVRIT Hyderabad college of Engineering for women,	60000	60000
99	2023	Manasa Prakash Nomula	4 years Engineering	1st year	Bachupally BVRIT Hyderabad college of Engineering for women, Bachupally	50000	50000